
Solve for Numerator

Solve for Denominator

Solve for Angle

𝑎ଶ + 𝑏ଶ = 𝑐ଶ

𝐴

𝐵

𝐶

𝑐 = 𝐴𝐵
𝑎 = 𝐵𝐶

𝑏 = 𝐴𝐶

Choose part of SOH CAH TOA that has 2 pieces of info we have, and one we want. 
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∠ 𝐴 = ∠ 𝐵𝐴𝐶

depression

elevation

180௢

𝐴𝐵𝐶
Similar Triangles

𝑠𝑖𝑛35 = 0.57

30௢

Opposite is 
Opposite!

            𝑠𝑖𝑛𝜃 =
𝑜𝑝𝑝

ℎ𝑦𝑝
⎯⎯⎯

10 × 𝑠𝑖𝑛30 =
𝑜𝑝𝑝

10
⎯⎯⎯ × 10

              𝑜𝑝𝑝 = 5

30௢

10

𝑠𝑖𝑛30 =
5

10
⎯⎯⎯=

1

2
⎯⎯

  𝑡𝑎𝑛𝜃 =
𝑜𝑝𝑝

𝑎𝑑𝑗
⎯⎯⎯

𝑡𝑎𝑛30 =
6

𝑎𝑑𝑗
⎯⎯⎯

     𝑎𝑑𝑗 =
6

𝑡𝑎𝑛30
⎯⎯⎯⎯⎯⎯

     𝑎𝑑𝑗 = 10.4 𝑡𝑎𝑛30 = 0.577 =
6

10.4
⎯⎯⎯⎯

𝑐𝑜𝑠𝜃 =
𝑎𝑑𝑗

ℎ𝑦𝑝
⎯⎯⎯

𝑐𝑜𝑠𝜃 =
7

8
⎯⎯

       𝜃 = 𝑐𝑜𝑠ିଵ(0.875)

       𝜃 = 28.96௢
𝑐𝑜𝑠28.96 = 0.875 =

7

8
⎯⎯

2

3

Hypotenuse
is Opposite
of the 90௢

Theory

× 𝑎𝑑𝑗
÷ 𝑡𝑎𝑛30
Both Sides

61௢
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90௢
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𝜃 𝜃
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𝑡𝑎𝑛𝜃 =
6

4
⎯⎯=

3

2
⎯⎯
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𝜃

90௢ − 𝜃

Calculator

Opp

Check Answer

Check Answer

Check Answer

Adjacent
is Beside!

𝑠𝑖𝑛𝜃 =
𝑂𝑝𝑝

𝐻𝑦𝑝
⎯⎯⎯⎯ 𝑐𝑜𝑠𝜃 =

𝐴𝑑𝑗

𝐻𝑦𝑝
⎯⎯⎯⎯ 𝑡𝑎𝑛𝜃 =

𝑂𝑝𝑝

𝐴𝑑𝑗
⎯⎯⎯⎯

𝜃

90௢ − 28.96௢ = 61௢

7

8
⎯⎯= 0.875

Degree Mode

Not to
Scale

3

Draw with a protractor and a ruler!
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